
Statistics Unit – FOM 11
StudyMatrix Practice
Name: ____________________________________

1. The annual incomes of a sample of 8 construction workers in Regina are as follows:  $71500, $74900, $69700, $82300, $78500, $73100, $73100, and $83400.  Find the mean, median and mode income of the eight construction workers.










1. ___________________________












     
           4 marks

2. The following table gives the frequency distribution of the sales of athletic shoes at a store in an outlet mall each day during the past 30 days.  Calculate the mean, median, and mode algebraically.

               
[image: image7.wmf]1234

76687370

tan2.77.56.23.1

Class

Mean

SdardDeviation


2 .____________________________











                           5 marks

3. The mean of a list of 80 numbers is 230.  If the four numbers 145, 156, 210, and 255 are added, what is the mean of the list of numbers?
3 .____________________________











                           3 marks

4. [image: image1.wmf]14185

19239

24286

293310

NumberofsalesNumberofdays

-

-

-

-

Determine the standard deviation for the following data.  Complete calculations manually and show all work.
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4 .____________________________











                           4 marks
5. Determine the mean and standard deviation on your calculator from the following frequency table.  
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5 .____________________________











                           2 marks

6. Construct a histogram from the following percentage scores on a math test using intervals of 10 percent.


(5 marks)
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7. Given the following data representing exam scores by four groups of students; explain why group 3 would most likely have the highest individual student score on the exam and why group 1 would have the smallest range of scores.
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2 marks

8. The attendance for a week at a local theatre is normally distributed, with a mean of 4000 and a standard deviation of 500.  Draw the normal curve to represent the normally distributed attendance for the week.  What percentage of the attendance figures would be less than 3500?  What percentage of the attendance figures would be greater than 5000?  What percentage of the attendance figures would be between 3700 and 4300 each week?

8 .____________________________











                           5 marks

9. Research of a manufacturer of cell phones, shows that the average cell phone will be 26 months before there is a need of repairs.  If the standard deviation for the data is 6 months, what length of time should the manufacturer set for a warranty such that less than 10% of all cell phones will need repairs during the warranty period?

9 .____________________________











                           3 marks
10. A random variable r is normally distributed with a mean of 7 and a standard deviation of 1.5.  Find the value of w so that P ( 8.8 < r < w)  =  .0800
10 .___________________________











                           3 marks
11. A commercial prawn fisherman recorded the number of prawns he took from each trap.  The average number of prawns per trap was 230 with a standard deviation of 22.  What number of prawns per trap would you expect in the interval symmetrical about the mean where 80% of the numbers would be found? 
11. __________________________










     

 3 marks

12. Convert a normally distributed score of 80 with a mean of 70 and a standard deviation of 6 into a z score.

12. _________________________










     

2 marks

13. Scores on a math midterm are distributed under a standard normal curve.  A randomly selected student had a score of 55, which represented a z score of -2.35.  If the mean for the exam was 76, determine the standard deviation for the exam.

13. _________________________
     

3 marks

14. At a high school, the average grade for the English 10 provincial is 64, with a standard deviation of 10.  If 20 students scored between 73 and 86 on the exam, how many students took the exam?  Use z scores in your solution.

14. ___________________________










       

3 marks

15.  Determine a 90% confidence interval for 
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15. ___________________________










       

3 marks

16.  How many people would need to be surveyed on health care to estimate the mean of an entire population to within 2 units if the standard deviation was 12 and we wanted a 92% confidence level?
16. ___________________________










       

3 marks

(do not use the List function in your calculator, refer to page 2 of lesson 2)





Length of Fish (cm)


21


23


27


28


31
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